Block D unit 2    Yellow Gp

WALT solve real life problems involving perimeter
1. Charlotte has a regular octagonal shaped box. She wants to decorate it with ribbon all around the edge.

    Each side of the box measures 9.58cm. How much     
    ribbon does she need altogether?

2. Tom the joiner has been asked to fix skirting board all around a regular hexagonal room. 

    The perimeter of the room is 28.2 metres. 

    What does each side measure?
3. Charlotte also has a regular pentagonal shaped box. She decorates all around the edge of it with shiny circles.  Each circle has a diameter of 4cm.

The perimeter of the box is 100cm.

How many circles does she need for it altogether?

How many does she put on each side? 
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1. Charlotte has a regular octagonal shaped box. She wants 
    to decorate it with ribbon all around the edge.

    Each side of the box measures 9.58cm. How much     
    ribbon does she need altogether?

2. Tom the joiner has been asked to fix skirting board all around a regular hexagonal room. 

    The perimeter of the room is 28.2 metres. 
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3. Charlotte also has a regular pentagonal shaped box. She decorates all around the edge of it with shiny circles.  
     Each circle has a diameter of 4cm.

The perimeter of the box is 100cm.

How many circles does she need for it altogether?

How many does she put on each side?
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WALT solve real life problems involving perimeter

4. Charlotte has an octagonal box. She wants to decorate it with ribbon all around the edge.

    Each side of the box measures 9.5cm. How much     
    ribbon does she need altogether?

5. Tom the joiner has been asked to fix skirting board all around a regular hexagonal room. 

    The perimeter of the room is 30 metres. 

    What does each side measure?
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WALT solve real life problems involving perimeter

6. Charlotte has an octagonal box. She wants to decorate it with ribbon all around the edge.

    Each side of the box measures 9.5cm. How much     
    ribbon does she need altogether?

7. Tom the joiner has been asked to fix skirting board all around a regular hexagonal room. 

    The perimeter of the room is 30 metres. 

    What does each side measure?
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WALT solve real life problems involving perimeter

1. Farmer Jones has a square field. Each side measures 120m.

         He wants to put a fence all around it.

        How much fencing does he need?


2. He has another field which is rectagonal in shape.

Two sides are 15 metres and two are 21 metres.

What is the perimeter of the field?
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3. Farmer Jones has a square field. Each side measures 120m.

         He wants to put a fence all around it.

        How much fencing does he need?


4. He has another field which is rectagonal in shape.

Two sides are 15 metres and two are 21 metres.

What is the perimeter of the field?


